Division par 1 000 (I)

Trouvez chaque quotient.

57 +1000 = 62+ 1000 =
83 +1000= 23 +1000=
67 +1000 = 24 +-1000=
2+1000= 52-+1000=
53+1000= 98 +-1000 =
99 -1000 = 98 +-1000 =
12 +-1000 = 67 +1000 =
15+1000 = 34+1000=
64+ 1000 = 10 +1000 =
29 +1000 = 76 =1000 =
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Division par 1 000 (I) Solutions

57 +1000=0,057

83 +1000=0,083

67 +-1000=0,067

2-+1000=0,002

53-+1000=0,053

99 -1000=0,099

12 +1000=0,012

15+1000=0,015

64 +- 1000 = 0,064

29 +-1000=0,029

Trouvez chaque quotient.

62 +1000=0,062

23 +1000=0,023

24 +-1000=0,024

52 +1000=0,052

98 +-1000=0,098

98 +-1000=0,098

67 +1000=0,067

34+1000=0,034

10+1000=0,01

76 ~1000=0,076
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